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>llEs 2,305,270 *(16/40)x2H~ 128 22,131
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11,3192 332 *300A1 2+ 112,059
OAIZAZ 24 (ORI 2 AE)
11,3192 %332 *48A| 2t 17,930
03 SRA(RIH )22 U2+ 8,548 7,455 1,093
ogy=zz=¢ 8,548
DAYAULA(TA2L])
17,8082 x8EH*x5AI 2H+ 123 8,548
QIARIH(SEST A2 A HEALR) 208,086 197,503 10,583
= 70,714




A ANESS A2
M HAHPAZH(AHSLEH2)
Chel: QIE2AH(AFELEZAH) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 136,872
= 500
101 @124H| 163,492 154,174 9,318
= 54,922
Al 108,570
03 SRH(RINHA) 222+ 163,492 154,174 9,318
OUTLULA (SIS T2 HZAIZE HE) 163,492
>llEs 2,288,420 x4 H 122 109,845
[ 54,922
Al 54,923
> EADD4
23,4102 «4H+bA1 2+ 123 5,619
PRLPNESS 87,5053 x4 11 3,855
>EIE 1,144,210 x4 E 23] 9,154
> a2 2,288,420 x4 B *12] 9,14
D> HGAH| 140,000& x4~ 123 6.720
> uESE | 120,000 x4+ 122 5,760
>EESIII 2,288, 4202 x4 H+60%*22] 10,985
DotEg 50,0002 x4 x 122 2,400
WM HsEE=S 44,594 43,329 1,265
= 16,792
Al 28,302
= 500
M SRA(RIHL) 22X BEERE=3 S 44,594 43,329 1,265
OZ3= A2 H2AIZH HE 44,594
PRI ERTE
81,646,960 4 +4 . 5% 14,697
s 7,348
Al 7,349
PALEES 81,646,960 x4 +3.545% 11,578
[ 5,789
Al 5,789
DPEIVNLQALEEZ
2,894,300 x4 E*12.8% 1,482
= 491
Al 491
= 500
PUESEES 40,823,480 4E x1.75% 2,858
= 1,429
Al 1,429
DAES = 40,823,480 4H+0. I 1,470
= 735
Al 735
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